
Tenbury Arbour
Assembly Instructions

English SS068E

No. Components Qty.
1 Back Panel 1
2 Seat 1
3 Uprights 2
4 FR/BL* roof rafters 2
5 FL/BR* roof rafters 2
6 Roof slat sections 2
7 Roof coverstrip 1
8 Finials 2

Before assembly
• We recommend that time is taken to 

read the instructions before starting 
assembly, then follow the easy step by 
step guide.The instruction sheet is only 
a guide to the assembly.
Certain items may not be shown     
to scale.

• Check all components prior to assembly
• This product should be assembled

by no less than 2 people
• Drill all components where indicated

No. Fixing kit Qty.
9 40mm screws 68
10 Flat brackets 2
11 L-brackets 8

Recommended tools for assembly
• Cross head screw driver           
• Drill with 4mm diameter
• Step ladder

2006 © Rowlinson Garden Products Ltd

If in doubt of any aspect regarding the assembly,use or safety of your arbour please contact us :
Help Line (Normal Office Hours)  01829 261 121
ROWLINSON GARDEN PRODUCTS LIMITED
Unit 2 Green Lane
Wardle Nr. Nantwich
Cheshire
CW5 6BN
Tel : 01829 262 080
Fax : 01829 262 089

5. Roof assembly to uprights
Fix the L-brackets to the uprights using 2 x 40mm screws per bracket. Lift roof onto uprights so that rebates in the roof
rafters rest on the uprights. Secure roof to L-bracket using 2 x 40mm screws.

We constantly improve the quality of our products, occasionally the
components may differ from the components shown and are only
correct at time of printing. We reserve the right to change the
specification of our products without prior notice.

x 2 Drill

*FR/BL = Front right/back left
FL/BR = Front left/back right

1

2 3

4

5

6

7

8

40mm

40mm

Rebates

6. Securing the posts
Place the arbour in the desired location. For a more permanent base fixture use a metal base fixing to secure the bottom
of the upright posts into the ground (1 & 2). If securing to decking or concrete base use metal L-brackets (3).

(1) (2) (3)
(1) Stake
(2) Flatbed
(3) L-Bracket



3. Roof section assembly
Bend a roof slat section and fit it into the rebates of 2 bearers as shown below. Secure using 4 x 40mm screws per bearer,
screw through the top of the bearer into the slats. Create a second roof section in the same way.

4. Roof assembly
On a roof section attach an L-bracket to the underside of each roof bearer at the apex end using 2 x 40mm screws per
bracket. Evenly rest the second roof section against the first and attach using 2 x 40mm screws through the L-brackets.
drill 4 holes in each finial. Centre finial so it overlaps both roof rafters and secure using 4 x 40mm screws per finial.
Drill 2 holes at each end of the roof coverstrip and secure on the roof ridge using 4 x 40mm screws.

40mm

40mm

Flat brackets

L-brackets

Ensure seat
supports are
facing inwards

40mm

Ensure seat is set
as far back as
possible

Drill Drill

40mm

DDrriillll

40mm

40mm

Plywood strips underneath

Fit the L-brackets to the bearer
ends that do not have rebates.

Roof rebates a the bottom

Apex end 
of bearers

1. Back panel to uprights
Position the back panel between the 2 uprights.Align the top of the back with the tops of the uprights and secure using
the flat brackets with 4 x 40mm screws per bracket.To fix the bottom corners of the back panel to the uprights use
L-brackets and 4 x 40mm screws per bracket.

2.Attaching the seat
Place seat between the uprights so that it rests on the seat supports, make sure the shaped edge is at the front and the
seat is to the very back of the support. Drill 4 holes in each of the upright as shown. Using 4 x 40mm screws, screw
through the drilled holes into the ends of the seat bearers.

40mm

DDrriillll

40mm



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 10%)
  /CalRGBProfile ()
  /CalCMYKProfile ()
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /UseDeviceIndependentColor
  /DoThumbnails false
  /EmbedAllFonts false
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (Europe Prepress Defaults)
  /AlwaysEmbed [ true
    /HelveticaCYBold
    /HelveticaCYBoldOblique
    /HelveticaCYOblique
    /HelveticaCYPlain
    /HelveticaNeue
    /HelveticaNeue-Bold
    /HelveticaNeue-BoldItalic
    /HelveticaNeue-CondensedBlack
    /HelveticaNeue-CondensedBold
    /HelveticaNeue-Italic
    /HelveticaNeue-Light
    /HelveticaNeue-LightItalic
    /HelveticaNeue-UltraLight
    /HelveticaNeue-UltraLightItalic
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /JPN <FEFF3053306e8a2d5b9a306f300130d530a930f330c8306e57cb30818fbc307f3092884c308f305a3001753b50cf89e350cf5ea6308267004f4e9650306b62913048305f00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <FEFF006d0079002000730065007400740069006e00670073>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice


